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(1) fx)=Ax*+Bx*+Cx+D ; dRZER
f(M)=0 (mod n), n; DERREK

(2) a b I TREEHITHE-TEH
T (a+b,-M) = (TTp;) = @? (mod n)
T (a,+b,'x) = Q(x) = q(x)? (mod f(x))
qM) = B (mod n), p;|3 K%K

(3) a?= B2 (modn) > nEF RN R

1.1 GNFSOEMHRE=(1/2)

(1) M(a+b,.x) = Q(x) = q(x)? (mod f(x))
T~ ZEAq)DHFRE
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1.2 GNFSOEREF(2/2)

(2) KBFEAEDHE
Q(x) = q(x)* (mod f(x))
DEFRMNSqX)ERD DB,
(a) s,aldEEH . nlFE TS = a (mod n)
> sEHEFnD R R EFIFRE (B
(b) xDZER q(x)? = Q(x) (mod f(x))
> qX)IFFETES

2. SNFSEGNFS

SNFS(H B EUA 5B L ViK)
(1) f=x+1DESIZHE DT ((M)=n)
(2) SBVNEHERLERT)
(a) atb MERFEETHROLOZESR
(b) a+b, O NERTTHEDELEDEER
(3) a2= B2 (mod n)ZER
a €< atbM, B<€atb-0
(4) GCD(| - B |,n)TnD R fi2
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SNFS: ¥R DdRZER (T

GNFS: #8TORNDIRZER
(2) 1T 7 L(atb- 0D fE

SNFS: &£t THE

GNFS: AT 7I)LQ(p:s) THfiE

Q(p:s) : f(s)=0 (mod p), pld =%k
Q(p:s) THE : N(a,b)=b*f(-a/b)[D3p TH#
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2.2 SNFSEGNFSMDELN(2/2)

(3) M(actb, 6)=Q(6) = q(6)* mod (f( 6))
SNFS : £t ibq( 6 )& EIETE
EEBTEBBEIGLILIRTE
GNFS: T ERTERL
> BRATTIVEBEFEIZL, EIC
FEHERTUO)DHEEERELITS
> Q(6) = q(0)*mod (f( 6))DER
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(1) f{M)=0 (mod n)&7%: 5 ZIERI(x)E KD D
Q) BEEGHP,RZATTILQRETE

(3) atb MAPTHREINDLDEEE

(4) atb O BQTHEINDEDEETE

(5) QYA THISEESN=LDITHLFHE
RREFETD

(6) PrQHRDEFRBMKLYDVLEZEET S

3.1 ZIEXDEH

(1) ZEADREIB~ERDSD
DENBDZLIEHEAERECT S
Q) ZIEXDFEHERDD
fx)=Axi+..+tAXx+A,
f(M)=0 (mod n), nlEHDAERIRHK
EHBEL. AJH.. HA AN TESLET
INEKTEBESITRD B
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(1) RHEE: P
BEHUTORBEZHRTES
Q) RATT7ILEE: Q
HEHMLUTORHpIIHLT
s2=n (modp), nlEXREXRE
LB BEHsHFET p,sDHQ(p:s)E
HBTES

3.3 RZHEETDSBLY

(1) BEWCHELBHabICHLTTREETS
f=1ZL. |a|<M,, 0<b|<M, &9 %

(2) FablZxLTT(a,b)=1&£9 %

(3) BOEEENDERFpDEANFpITHLT
agtb-M=0 (mod p*)%EBa & & 5
lagtk-p*l<M, &% B TDEBHKIZHL T

T(ag+k-ps,b) = T(ag+k-ps,b) X ps ZEHE

(4) T(a,b)=at+tb-M&iENIL, (a,b)EETE
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ABLD A&
f(x)[EFM)=0 (mod n)&7EBdRD ZIER
(1) N(atb- 0) = bd-f(-a/b)|EFRAT 7 ILEIE
Qp:s)DHEHPTHET HLDEES
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(1) EHEETEENT-atb 0 FXER
Q) FRATTILQ(p:s)DFHEpTatb-sHE|
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(3) FZHBLT=Q(p:s)IZ®L T, N(atb- 6)AH
pDARFps(s=1,2.. ) TEINBMNT R
(4) N(a+b- 0)H3Q(p:s) TEIYtIN =58 E

14

3.5 FAEIRDEE

(1) B
M(a b, 6)=Q(8)=q(8)* (mod f(6))
E5Bq(0 ) DHFHEEEREE DD,
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(@) RATTILEELYKRETVDFRHBICHLT,

Bl—AHETEAEIREERp:s)MERK
(b) BITHNT R, FHREREHE
EFEIK = (a-bs)PD2 (mod p)
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(1) FHEEPRUVRATFILEEQTH
(2 fEENT=(ab)EERT S

() abDIE. BRHEREPDIHRHAT. &
FRATT7ILEEQDIEHM AT EIEIN
(3) &ET—RITKL. BFEAREIREERRIC

®IET HFEFFEIRO or 1)ZEHEHH
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GNFSIZHE TR ET AR DEHEFE
(1) BESN-REBEITOIVQO)EEFE
Q(8)=Ti(a,+b, - 0) (mod f(6))
(2) Q(8)=q(0)* (mod f( B))DEAFRENS
JERMEL AERETE S
(3) M EIL AR DEHAE(q(9))
K&, qM) (mod n)ZFEHE TS

4.1 FEFRPEL AEXDEH(1/2)

fx)=x+Ax2+Bx+C, fM)=0 (mod n)&L
Q(6)=ab02+b8 +¢, q(B)=x,02+x,0 +x,
EF5.Q(0)=q( 0 hbRNELND
q(6)7-Q(0) = gi(x,.%,%3)" 62+ gy(x1.%,,%3) 6
+ g5(X4,X5,%X3) = 0 (mod f( 0))
BITHILICIE. g,=g,=2,=0 (mod f( 0))
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81(X1,X,%3) = (A%- B)x,? - 2Ax%, + X5
+2x,x;—a=0

82(X1,X5,%3) = (AB - O)x? — 2Bxx; + 2X,%4
-b=0

2,(X1,X5,X;3) = ACx,2 - 2Cx;X, + X32-¢ =0
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G(x)=0D fEx=(x,,%,,%,) TOET H A%
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Og,/ox, 0Og,/ox, Og, /6)@}
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a? =(TTp*5? (mod n)
3) (),2)MB a?= B2 (modn)
(4) GCD(|a-B |, nDEtE
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n=1333
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(1) RHBEEP
P=1{2,3,5,7,11,13,17,19} : 19 TOEH
Q) FATTILEIEQ (q(p:9))
f(s)=0 (mod p), plE23ETNDHRE
QIF LEEEHHHFET S TRRD6ME
q;(2:0), q2(3:1), g5(5:2), qu(11:4),
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6.3 atb- 6 M550
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FBATTILABLDA

(1) RSBV THELNIzatb O EXRR

SR

2) FATTILQ(p:s)T

(@) atb-sHpTEINDLDERT

ZDpDANFHERT

N(@ab)h pDARFTEIN ST R+
(3) N(a,b)hpTHEETELHLDZEER

xLE

-~

(b) atb-sl
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6.3 atb- 0 MABULEER(3/5)
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7. GNFSIZ& B R #5245

RS EDAHE
(1) 5BLTHIMB0-11THIVERK
(2) 0-1973IZHEL. KETOEREL
Q) ERBITORBEABOHE
(4) BHEBITTa’= B2 (mod n)itHE
(5) GCD(|a-B | n)Z&EtEL.
n& R 5 iF

7.1 0-1975I DERL
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HEENT=15,16,171T5 7T
12345678901234567

15 | 10100110001000100
16 | 01110001000101000

17 | 00000001111100011
INDLRBITIETRELELD
HERBIT1:1,3,6,7,1,15, #EB172:2,3,4,8,12,14
HEB173:8,9,10,11,12,16,17

7.3 RBTEHRDEFE(1/3)

HERITL (1,3,6,7,11,15)&Y)
F(O)=(0-7)(0-2)0+1)(0+2)(20+3)(40-5)
=529¢" —746-908 mod f(6)
WoT, FELDEIL—RAEANKILT S
g (x)=x] +2xx,-529=0
g,(x)==2x +2x,x, + 74 =0
g,(x) = —4x,x, +xI +908 =0

7.3 REFAFROEE(2/3)

COABXOEHMET

x=11, x,=21, x;=4

EITYTEREAKILT B

F(#)"> =B(0)=1160"+2160+4 mod f(6)
B(11) =233 mod 1333
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7.3 KBFHRDEEGES)

FEDDETRDEIIZES
HERBAT1: B(11) =233 (mod 1333)
#ERB1T2: B(11) = 608 (mod 1333)
#EBAT3: B(11) =1112 (mod 1333)




7.4 a?= B2 (modn)DETE(1/2)

HRBIT1 (1,3,6,7,11,15) KYRBEEDARF(L

a?=(22-32-5-13)> = 10072 (mod 1333)
RBFEAHIROBERLY

B2 =B(11)? = 2332 (mod 1333)
H-oTa’=R%BEHTHETREELD

10072 = 2332 (mod 1333)

7.4 a?= B2 (mod n)DETE(2/2)

FEHDLETRDKIIHD
HEBAT1: 10072 = 2332 (mod 1333)
TEBIT2: 6942 = 608> (mod 1333)
PEEFT3: 10812 = 11122 (mod 1333)

7.5 GCD%K& ., R n iz

(1) #EEITI
GCD(|1007 - 233|,1333) =43
fiE>T. 1333 =31 %43

(2) EEIT2
GCD(|694 - 608],1333) =43
fiE>T. 1333 =31 %43

(3) KET3
GCD(|1112 - 1081[,1333) =31
fiE>T. 1333 =31 %43
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